
グラフが２点 ，  を通る直線。 3 , 1   9 ,1 14 -1-2-3-4y

12963x
7

グラフが２点 ，  を通る直線。 4 , 7   8 , 9 13

グラフが２点 ，  を通る直線。  1 , 5   1 , 1 12 11852y

6543x
6

グラフが２点 ，  を通る直線。 2 , 3   7 , 28 11

グラフが２点 ，  を通る直線。  2 , 16   4 ,2 10 -19-15-11-7y

5432x
5

グラフが２点 ，  を通る直線。 5 , 5   9 , 13 9

グラフが２点 ，  を通る直線。 3 , 2   8 ,3 8 -3-4-5-6y

4321x
4

グラフが２点 ，  を通る直線。 1 , 2   4 , 14 7

グラフが２点 ，  を通る直線。 2 , 7   5 , 16 6 171272y

5432x
3

グラフが点  を通り、傾き  の直線。  4 , 0   125

グラフが点  を通り、傾き  の直線。 6 , 3  1
34 -8-5-21y

4321x
2

グラフが点  を通り、傾き  の直線。 2 , 5  13

グラフが点  を通り、傾き  の直線。 1 , 3  22 131197y

4321x
1

グラフが点  を通り、傾き  の直線。 2 , 4  31

式を求めよ。次の一次関数の式を求めよ。

no.2

y   15 x  537y   14 x  127y  4x  1017y  3x  87

y   34 x  336y   25 x  726y  3x  716y  2x  56

y   23 x  335y   13 x  525y  2x  415y  x  105

y  2
5 x  234y  1

5 x  324y  x  514y  4x  34

y  4
3 x  733y  3

4 x  223y  3x  313y  3x  73

y  1
4 x  532y  2

3 x  522y  2x  612y  2x  12

y  1
3 x  331y  1

2 x  121y  x  211y  x  51

グラフをかけ。
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グラフが２点 ，  を通る直線。 2 , 2   8 ,1 14 7654y

8642x
7

グラフが２点 ，  を通る直線。 3 ,1   9 , 1 13

グラフが２点 ，  を通る直線。 1 , 6   4 , 21 12 3456y

7654x
6

グラフが２点 ，  を通る直線。 8 , 5   10 , 7 11

グラフが２点 ，  を通る直線。  2 ,3   1 ,6 10 -7-5-3-1y

5432x
5

グラフが２点 ，  を通る直線。 1 , 5   3 , 13 9

グラフが２点 ，  を通る直線。 1 , 3   5 ,5 8 -11-7-31y

4321x
4

グラフが２点 ，  を通る直線。 2 , 2   4 , 8 7

グラフが２点 ，  を通る直線。 2 , 7   3 , 9 6 131074y

4321x
3

グラフが点  を通り、傾き  の直線。 6 , 1   135

グラフが点  を通り、傾き  の直線。 4 , 5  1
24 9753y

6543x
2

グラフが点  を通り、傾き  の直線。 3 ,  7  33

グラフが点  を通り、傾き  の直線。 5 , 3  12 0-1-2-3y

4321x
1

グラフが点  を通り、傾き  の直線。 3 , 7  21

式を求めよ。次の一次関数の式を求めよ。

no.1

y   15 x  237y   14 x  527y  4x  817y  3x  57

y   34 x  536y   25 x  226y  3x  1016y  2x  36

y   23 x  1035y   13 x  625y  2x  715y  x  75

y  2
5 x  334y  1

5 x  524y  x  314y  4x  54

y  3
2 x  733y  3

4 x  523y  3x  113y  3x  43

y  1
4 x  332y  2

3 x  222y  2x  312y  2x  52

y  1
3 x  531y  1

2 x  321y  x  511y  x  31

グラフをかけ。
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